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The Axiom of Choice is obviously true; the Well Ordering
Principle is obviously false; and who can tell

about Zorn’s Lemma?
— Jerry Bona

The YouTube video is found at:

Source: https://www.youtube.com/watch?v=7zwAqqH6C58&list

=PLMvuVeOn1Hd_KIT-dsvIVluQQN3pJrlmX&index=691

Title: Nice Algebra Math Simplification

Presenter: Master T Maths Class

1 The Problem

Given the relation (x
5

)x

= 55
2

, (1)

find the values of x over the real numbers.

2 The Solution

So, I’ll make my usual variable transformation in this situation.

x = 5α . (2)

Then
5(α−1)5α = 55

2

, (3)

On equating exponents, we have (with some manipulation) that

(α− 1)5α−2 = 1 . (4)

The obvious solution to this is α = 2, thus

x = 52 = 25 . (5)
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